S u M Po v Third party verified

JAPAN

Confromance with

. E p D Environmental Product Declaration
o

VERIFIED | I1SO14025 ‘ 1SO14040 ‘ 1SO14044

SUMPOEEESAI 045 L (SUMPO EPD)

N Xt F+HA

NAGAI Co. Ltd

II7Y-R IVRA
ECOFREECE EMBOSSED

BEHRES RIEEEA NS REE A ShEAR EPDYM1S
SuMPO-EPD-2601-92-1 2026/1/26 2026/1/29 2031/1/25 JI-TEREPD
XEFHSNEHEEHRARE
BANOXEHIER EPDIHARIEHARI CH-TE, BHEL A AMNRILEBZIERBYET,
EPDORFhRS LU BN MEZMETT T BICIFLL T EREELTLES,
1S021930:2007

https://ecoleaf-label.jp/epd/search



SuMPO

FHBBES) SUMPO-EPD-2601-92-1
Environmental Product Declaration for ECOFREECE EMBOSSED . E s AQ
VERIFIED
OEXIF
>T0J5L1ER
T0T5 L&FR SUMPOEZRESINILTOIT x
TOIILARL=9-  —RAEEAYAT IR EHEERE
PFTTE REREFREXAHE1-14-8 KANDA SQUARE GATE 4F
PADLEES https://ecoleaf-label.jp

> GPI-PCRIE#

GPI SuUMPO EPD Japan General Program Instructions v.2.1.1
PCRZ& R B RUESES
PCREFES PA-SuMPO-PCR-01000-2-0-1
PCREZZE H 2025/3/31
LEI-IRIVEER (FiE) FEE B (BEZRARY £2EHR. —RUEEANEE - BESDG s fELYI-BER)
PCREZNHARR 2030/3/30
PCRFEITH — A EIEAY AT F IR E HE RS
> IREEEER
1ISO14025 % UNSO21930:2007CHE o788 = & &R AL
_ " O ~ad W SR
e g PREALCES L REREIE EPDYR7 LFEE
B=FIREL FE=EWRAL (C&B5% =FRALE

RIEEEE (FTE) il B (T1REIRRT7TRI-)

> BEYLIRIE
Bl 1SO14040:2006 B 1SO14044:2006 [J 1SO14067:2018
YR B 1SO14025:2006 W 1SO21930:2007 ] 1S021930:2017
] EN15804+A2 [J EN50693:2019 [  ISO/IEC63366:2025

EPDICEEHDIEHR R UEPDICRRHDERICEE T ZRIBERICOVTOE(FIFEPDES EEEMFEET, EPDOANRICET 3RS, HEREEICDONT
[%. EPDERBEEZEFTHERNEDECEEL,
EPDOLLES, R B ROBAEE +DICERBLE ETEBINBINEBSR V), BRYURICEIZEMOIMIY1 ) 24EEE L. BREURICBL
TRZEORBRERELEYFUAZBERALTWVIHENHYET, EPDOLLEDIRICE BINEEKEFARESHMMERTEPCRESRL TS,
EPDA'E S BAIILEIVTVRIHE. LEREHEEEE IHY TITOhNEINEBRYE A,

BRBFETEERAHETHENNEHIETT, BEOAZSIILVREADEEL—HCHERITONZEDOTREHYFEA, ol BEELEBIEFREA
DEFENLEFEOREZIPZLE (FEZZBAELTVANE) | YATFE GREPABICENETOEELREFINE) 2BERTEOTEHYEEA.

MEFHERVEEEDH S J1IYMVIEZEFMERKROTIIVIINAIRY MU DHEER R, REYBEEBR, HAOJ0-CRETRIEER
[E HFEOHERIIOVTOERTRHIEEA,

@EPDEVISEXEHIBR
BEEL-HBEA MRS THM-1VTUTEEE (NAGAI Co,Ltd * Interior Division)
£ T107-0062 RR#BXmE 1L2-9-3-3F
MWEDhEEL 03-6434-9840

LICAREREE (FiE) WR EA (—RMEEANTYTANMYS-)
ARET7PEIFIO-UV I BREDEEEMOREPEIE, RURFTEITI, EREEELT
EREGE BRIBEHRI T2 -Z I B5 AR EDI0-Y VI G-LOC FLOORING PLUS|BED'S
%, 20, AMYFPEBOFREDT Y TA-IEWPA-F-FT7BREEEYFEO TS,



Z$%ES) SUMPO-EPD-2601-92-1 SuMPO

JAPAN

Environmental Product Declaration for ECOFREECE EMBOSSED .. E p D
VERIFIED

Q& LIFIR
B REIR I17Y-X IVRA (ECOFREECE EMBOSSED)
B EDE E51,E52,E71~E76
B TEEE EAOBEEVPRHFCATTELT. BEM -REME- - FRME - REMLRCER LSE2HEE
0 (1 HmEE 213609 WEEE 21360 g/m
HROAE (EESLUEERKXTER
ifrtEse -
FEH 65F
FERZG EEHLUEERSR
it FAE 24 (B2 (V0OR) (BT ZRBEIRDER AEBALEERTHY, TTAERPCRIEEHEZIETS

FEREFRELRIL DTIZELY,
Hil BB EFIREEEDCBNSINEAMRIM1Y] (BRETR) <SEER >
St b ElEHls) BUERFEETIHA (BEEENS)
IV TEEERRIELEIV-A CRE#) (T KIEZRETIHBRELER (IVRAYM
p))
EITTHA https://www.nagai.co.jp/ecofleece/

S E

O RUMEICEI B ER

BRERER A (%) B2E
N il 69.59 140.00 g
KRR 3032 61.00 g
B 0.09 0.17 g
DEMIERESR A (%) B2E
E&R=)b 77.5 9.64 g
77 2.6 0.32 g9
BE 19.9 2.47 g
OLEYHRRREEE

IHE &8 2 (kg-C) &HE (kg-CO; eq)
HRHEVOEYHREREZEEE - -
RETICOEZBEEVOEYAKREZSEE - -



SuMPO

JAPAN

FHBES) SUMPO-EPD-2601-92-1
Environmental Product Declaration for ECOFREECE EMBOSSED .‘ E p D
VERIFIED

OLCA BIEIFIR
>EPDY1 J1ER
RI1T O HBE—#g B J-TREG O RS
EPDYM1TS  HARIAT B BEYMH O #BHEYAH
FRAE O HEfE O hiEFYE B RKXE O _EBRfE
3R Y 5 B J0-1\)0

HROBECCICZROREEDAETERZN. BROBAZERLUICE TUIHZRERNF

BHUR/EBIIMEET —Thdlth. RERELERERIN TV,

EPDICHIFZRERMEDHRE - MATAIAZELH I, 1mHYIRET I EERREIR—ER370h, REMEEHE
RINTV3,

BHEUR/BEBIMEET RROREILCEROREEOHETELGSN, BROBRAERSWICY TIHZREEMMAE

EPDICHIT2. EEFERD —THaH. EEFEREE—LH5,

ETIRICRET B0 Fi IAYIRIEHSH I, 1M HYIBRETZEEERERER— RS,

ZRRAENREUICETELRZSRBOHEREIN-TERBELTIDICEEH TS,
F MATIARRBE L C—ETRELL TIRTORBICHEL TERTI AW EETEH, 1

BREREEPDORA ) - E T 2L BE R — BB, T4 GENEEEHTI OO TRGE LTI
%o
> LCARRE &R
SEEN m
EEHMLEIOEER .
(ng\a}?ﬁaﬁ{%iﬂl) 213.60 g/m
HEIO- (MEEBMERLTRD
[CHELRERER)
IATLIER B Cradle-to Gate [0 Cradle-to-Gate with options | [] Cradle-to-Grave
LCAYTRIIT MiLCA for EPD Ver3.2.0.0
LCIT-INR-2 IDEAV3.1
BHECETIV SIRZE) : IPCC 2013 1004 / ZODfth : LIME2
ZOMONYIIZIIRT-H -
ZRT-IRE GPICHEDZRT-IREEBELET-92BWTEEE{To.

—RT-IPNENSE  WERFTLETIHBA CFEREMT)

—RT-HUNEHIE  2023/01/01~2025/08/31

EYmkREORYELN W 0/0770-F O -1/+1770-F
SR i3 B EVvignFHaNEEAIVIR O Z0fts

BHEHIC ] -

AR EAH -

BT |-
> BE N RERRE
(5 FRER B %
OSSR MTER RRARER TS =
b ah EHEE S #hoK B E ek A
Al A2 A3 Ad A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 C3 Cc4 D
B T 5 : o B
o | B 35 it E X ; =2 BT
BN BN B B s ' & W oM Y B
. . R a
o 0o B 0O I A R # % £ | - . 0 L 0 g
A% % % o L, B o= &
EO| O PES z =3 Ei
A

MR- EENR

|
W
i



SuMPO

Z$%ES) SUMPO-EPD-2601-92-1 . E p D

VERIFIED

Environmental Product Declaration for ECOFREECE EMBOSSED

>7P0r-v3y

B TOCAOEH LFICTT-FIRELTWS EDHR A FFHELEVD, 7OT-Y3VIEERLTLEL,

>hybkAD

NYRATEERELTNERW,

>YATLIER

‘PCRICE D=, WHRODTV1-)VIFA1~A3E LT,
‘GPIBLUPCRICTUBERATOL AL EHONFIEBEVATLAERNE L,
‘BRI YATLERE100FEE L,

>IFUA
TI1-) SRR
A2 —RT-FOINEHN R LR RIOEETOTRICDWTIE. PCR Annex.BOYFUAEZERE W,
A3 —RT-FIOWNEN R L BEEM - BEYOHEXTOTRIZDOWTL, PCR AnnexBOYFUAEER N,
>EBEHETIVY

2018FEICHBIIZRMEN (HEF) OF-F&ANE,



SuMPO

JAPAN

VERIFIED

ZiRHES) SUMPO-EPD-2601-92-1 E P D
. . ..

>317949),70-K

A1-A3 R BE RS
Al A2 A3
i a%an
SN OB 2RI, 37T o
WEES P
B
: N pervern AR ) w
(omwts: &4 | o > g
L
(GEE DL i é i
(omwst:2n ) eomz [ £l 13
1 >
IUIRA g ,{é i
! na P
FUPT L
L T
(otma:5"n 11 omz > s=-pE E
1 P2y
e ES
S

(oftEs: a8v-L ) | @mz '

|
Bk




R %ES) SuMPO-EPD-2601-92-1 SuMPO

Environmental Product Declaration for ECOFREECE EMBOSSED .. E p D

JAPAN

VERIFIED

OETEHER
>I17Y1 7V EFHERE R
RksoRE (lTsomx [A3]ELE D EHR4
RURZED kg-CO.eq = 1.70E+00 | 1.03E-01 = 1.24E+00 -
AV BHEIE kg-CFC-11eq 2.43E-07 = 1.12E-12  1.29E-08 -
[qe(d kg-SOzeq | 1.79E-03 = 5.40E-05 7.03E-04 -
WHEARIER kg-SO.eq | 1.28E-03 | 2.23E-05 = 3.44E-04 —

HALEAX VI I NER | kg-C.Heeq  5.58E-05  2.73E-07 = 2.64E-06 -
BEEYE FENIPAM)  kg-CéHeeq | 2.74E-03 | 5.03E-07 | 1.12E-04 —
EEEWE(NEN) | kg-CeHseq = 4.41E-05  3.37E-07 = 3.17E-06 -

KELERRSMH kg-CsHseq | 2.03E-02 | 1.01E-08 | 2.55E-04 —
BEE RS kg-CeHseq = 3.28E-01 = 2.19E-07 = 3.26E-03 -
ERE kg-PO.*eq | 3.90E-03 = 1.03E-12 | 1.63E-05 -
=+ o F A () m*/ & 2.05E-01 | 1.00E-03 = 8.46E-03 -
T 3 F (R E) m? 3.61E-03  2.01E-05 = 3.09E-05 -
ERHE kg-Sbeq | 3.99E-04 = 4.36E-07 = 4.68E-06 -

>J1TY1I WA IR M) 3R BIEE R

Ersome (AlTsomz [A3]ELE D ‘EHH
FBEAREIR kg ' 2.36E-01 | 8.38E-08 @ 1.21E-02 -
FEBERREIRIF- kg | 7.89E-01 | 3.19E-02 @ 2.87E-01 -
FEBERRIIY- MJ | 3.40E+01  1.43E+00  1.28E+01 -
BERER kg = 7.32E-01 & 2.16E-08 & 3.19E-03 -
BAERREIRIY- MJ | 1.92E+00 @ 2.89E-05 | 2.63E-01 -
KKDHEHE m® | 1.35E-01 | 1.69E-06 @ 7.06E-03 -
> REYBIEER
IEssomEs (A2logomx [A3]ELE D ERH
BEEEY kg ' 0.00E+00 | 0.00E+00 ' 0.00E+00 -
EERZEY kg = 6.05E-03 | 7.27E-10 & 3.09E-03 -
—RRBEEY BEIY kg = 158E-10 = 1.25E-18 @ 4.57E-10 -
EXFEREY 1BuY kg = 6.05E-03 | 7.27E-10 & 3.09E-03 -
KIMITIAINICBIPREYEERL VT,
> A I0- BT BIRIBIER
WIEssomEs (Alogomz [A3]ELE D ERH
BARAI e Elam kg - - - -
YA VR R kg - - - -
IRIF—[EUR A kg - - - -
BERUDSOMEIFNE- - B B

(IRIF-EUBNER =260%)

RRVOBED | mmwiginss | kg - - - -
(TR F-EIR
T <60%) EURTRILF- M) - - - -

BREMOEET
s _ B _ B
Gmmoasee BRMETLANE kg

IREIAXNSOIRIF -

EIR) EURTRILF- MJ - - - N



SuMPO

BBES) SUMPO-EPD-2601-92-1
Environmental Product Declaration for ECOFREECE EMBOSSED . E LTI , -’
VERIFIED

>LCAE TR RCBIT 35

FEETE AEASTHELTVREN CRfEH) (OWT Z08EICREZ—RT-IDINEDNRETH 1. ZRT -
45 (AIST-IDEADT-%) ZEALTNS,
e, —EBYFVALLBETEITOCWBIENS, RETERRICE. NEEUENESENILICEEINEL,

@ ENNIRIZIEER
> LCAICEIEL B VEINREIEIR

FSCRAAVEHS (FSC® C002260)

>EEMECATSIER
EEMES CAS No. BRAINZEEZEIRFDSE
BbFo 13463-67-7 RENEST 0 2 [T DBHEITSRIERSE 9 DB RY
HEEt 68855-54-9 RENEST &0 2 [N DBHEITSRIERSE 9 DB RY
EREBRLER (BR) 14808-60-7 RENRST 520 2 [CHIDDBHETHRIFRE 9 DBAXTRY
[k 1314-13-2 LTREIEST 50 2 [Chhh2HEITHRIRE 9 DBAXTRY
FRBE-BLER 7631-86-9 BRIRST &0 2 (DD BHEITHRIEREE 9 DB RY

EMBLUEREENCOERYEOKH

ORENER
@ E Xk

+1SO14025:2006 Environmental labels and declarations — Type Il environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

+1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products

@I EE



